
Pos. Artikelnummer Benennung Pos. Artikelnummer Benennung

* 200053100 Nadelventil ST-53 vernickelt

Stand: 00

Artikel-Nr. 20 0097 500

Ersatzteilzeichnung

Bodenreiniger ST - 97

Repair-Kits

25

23

24

2730

14

12

1

5

6

16

15

32

13
31

287

33

17

26

9

18

11

10

29

Pos. Artikelnummer Benennung

1 04 0000 220 Haube, Edelstahl

2 13 0000 110 Rad 85 PU/050/1       ST-97

5 04 0000 230 Achse      ST-97

6 04 0000 241 Halter ST-97 m.Gew.M4

7 13 0000 830 Streifenbürste 175 mm

8 13 0000 820 Streifenbürste 396 mm

9 04 0000 195 Scheibe 17x8,4 DIN 125

10 04 0000 235 Schraube M4x8 ISO 7045 A2

11 04 0000 215 Schraube M8x16 ISO 7380 A2

12 04 0000 205 Sicherungsscheibe DIN 6799-7A2

13 12 0000 085 HD-Düsen H1/4VV 80015 Niro

14 02 0002 240 Rohrschelle ST-53/54/355 blau

15 07 0000 320 Niro-Rohr 12,7x1,5x460 geb&E-p

16 04 0000 681 Niederdruckdüse ST-97

17 04 0000 380 Mutter M5 DIN EN 24032 A2

Pos. Artikelnummer Benennung

18 04 0000 175 Schraube M5x12 ISO 7045 A4

23 01 0002 570 Pressmessingg.ST97 vernic.10my

24 01 0002 571 Verstellkolben ST97 vern.10my

25 01 0002 568 MS-Scheibe ST-53 (skiver)

26 05 0000 905 O-Ring 7x1,78

27 01 0002 572 Überwurfmutter ST97 vern.10my

28 02 0001 820 Handrad ST-53 blau

29 04 0000 605 Senkschraube M4x8 ISO 7046

30 02 0001 832 Abdeckkappe ST-53 blau

31 12 0001 500 Filter MS(12687-100M)ST95/57WA

32 07 0004 340 Niro-Rohr umspr.431/400 blau

33 20 0097 490 Düsenrohr,kompl gebeizt&E-poli

25

*
*

*

*

* *
*
*


